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D. "Default setting" in the server configuration document

Answer: A 

QUESTION: 116 
Mariam incorrectly entered her Internet password numerous times and the lockout 
policy disabled her access. As the administrator, where would you proceed to 
unlock her user account and what is the result of unlocking her account? 

A. You open inetlockout.nsf; unlocking the user does not change her password on
next login
B. You open names.nsf; unlocking the user forces the user to change her password
on next login
C. You open certsrv.nsf; unlocking the user forces both her Notes and Internet
password to be changed on next login
D. You open passhold.nsf; unlocking the user resets the user password which she
receives in an automatically generated email

Answer: A 

QUESTION: 117 
As the Domino administrator, Martin wishes to establish a policy to force all users 
to automatically check for misspellings before sending mail, yet allow them to 
choose the soft delete time of 36 hours. Which of the following policy settings 
would be utilized? 

A. Forced and Don't Set Value
B. Set Value Whenever Modified and Forced
C. Don't Set Value and Set Value Whenever Modified
D. Set Value and Prevent Changes and Set Initial Value

Answer: D 

QUESTION: 118
 
OCSP on the Domino server is enabled through which of the following?
 

A. Server document
B. Security policy
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C. Server configuration document 
D. Certificate authority database 

Answer: B 

QUESTION: 119 
Mathias, the Domino administrator, has configured key rollover for the 
organizational unit (OU) certifier named Marketing. Which of the following is he 
required to perform? 

A. All cross certificates for that OU must be recreated 
B. All users and servers certified with that OU must be recertified 
C. All users must request a new certificate from their Lotus Notes 8 client 
D. All servers in the domain must be restarted after replication has occurred 

Answer: B 

QUESTION: 120 
Larry, a Notes user, has issued a message recall request to another employee. Larry's 
home mail server is server1 while the other user is on server3. Which of the 
following is true regarding the recall request? 

A. The message is recalled using the server ID of the sender's home server 
B. The message is recalled using the user ID of the issuer of the recall request 
C. The message is recalled using the user ID of the recipient of the mail message 
D. The message is recalled using the server ID of the server performing the recall 

Answer: D 

QUESTION: 121 
As the Domino administrator, you are in the process of integrating Websphere 
Portal and Domino. To include Domino and Websphere in the same LTPA token 
you must perform which of the following? 

A. Specify an identical SSO timeout 
B. Place flat names in the Domino directory shared over LDAP 
C. Export the LTPA token fromWebSphere and import it into Domino 
D. Export the LTPA token from Domino and import it intoWebsphere 

39



Answer: C 

QUESTION: 122 
While utilizing the Lotus Notes 8 client, you are creating new local replicas of 
server databases. Which of the following is the default encryption setting? 

A. Simple
B. Medium
C. Moderate
D. Strong

Answer: D 

QUESTION: 123 
Which of the following are available with the new LTPAToken2 in the Domino 
environment? 

A. SSO name mapping
B. Logins across multiple Internet domains with a single token
C. Multiple user logins with the same attribute name in different directories with a
single token
D. Single login from both the Lotus Notes client and Internet browser on the same
physical machine

Answer: A 

QUESTION: 124 
A security settings policy document was created by Henry for his organization to 
lock Internet passwords after a certain number of incorrect attempts. After verifying 
that the policy was correctly assigned to the users, it was still not functioning. 
Which of the following next steps should he take to enable this feature? 

A. Have each user log in with an incorrect password to enable the feature
B. Restart the server that offers the HTTP service so the policy takes effect
C. Make sure Internet password locking is enabled in the server configuration
document
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D. Create a test user account and enter incorrect passwords until the lockout takes
effect. This then enables it for everyone

Answer: C 

QUESTION: 125 
You are deploying new features and have modified the plugin_customization.ini file 
to set how to treat unsigned or corrupted signatures. Which of the following 
override the plugin_customization.ini file for security settings? 

A. Server document
B. User preferences
C. Security policy settings
D. Server configuration document

Answer: C 

QUESTION: 126 
To provide greater security, which of the following may be implemented when 
locking out failed Internet password attempts? 

A. The value for maximum tries allowed should be raised
B. The value for maximum tries interval should be raised
C. The value for maximum tries allowed should be lowered
D. The value for maximum tries interval should be lowered

Answer: B 

QUESTION: 127 
Paul, the Domino administrator, mistakenly modified the administration server for 
the Domino Directory to modify name fields for the Action settings. Which of the 
following effects could this change have on the Domino environment? 

A. Explicit polices will have to be reapplied to users
B. Critical names could be removed from the Domino Directory
C. All users will recertified with the Organization certifier
D. The Administration ECL will be refreshed for all users and pushed to the
workstations
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Answer: B 

QUESTION: 128 
It was decided to locate the DB2 server on the same physical box as the Lotus 
Domino server. In this scenario, the DB2 database that stores Domino data is titled 
which of the following? 

A. Lotus
B. Domino
C. NSFDB2
D. DB2Domino

Answer: B 
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